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When g(x) is divided by x? +x—6 the remainder is 7x+13.
What is the remainder when g(x) is divided by x+3?

@A -8

®B) -5

©€) 34

D) 55

Consider the polynomial P(x)=3x*+3x+a.

If x-2 is a factor of P(x), what is the value of a?
A) -30

B) -18

<) 18

D) 30

Consider the polynomial P(x)=2x*+x*+2x+a.
If x—1 is a factor of P(x), what is the value of a?

)
®

-6
-5

© 5
®) 6

The polynomial P(x)=x* —kx* —~2x+33 has (x~3) as a factor.
‘What is the value of £?

A -5

B -4

< 4

™ 5

It is known that two of the roots of the equation 3x® +x* —kx+6=0 are reciprocals of
each other. What is the value of £?

(a) -2
®) 6
© 7
™ 17
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The polynomial f(x)=2x*+kc+4 can be expressed as f(x) = (x~2)g(x)+6.
Which of the following is the correct expression for g(x)?

(A) 2x-1

B) 2x+1

© 2x-3

D) 2x+3

If &, B and y are the roots of x* —4x+1=( what is the value of afy?
Ay -4

® -1

© 1

D) 4

If ¢, B and y are the roots of x* —4x” +2x -6 = 0 what is the value of &+ g+ y ?
A) -6

B -4

© 4

®) 6

If &, B and y are the roots of x°’ —2x +3x —1=0what is the value of aff + fy + ya ?

A)
®)

-3
-2

© 2
D) 3

Let &, B and y be the roots of 3x* +8x> —1=0.

What is the value of (& + l)(ﬂ + l)(}’ + l) ?
A

@ -
® -
© 3
® 2

28
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99 Let o, B and y be the roots of 2x° +x” —4x+9=0.

What is the value of L+ —1— +L ?
ay By

@ -

® -3

© 5

® -

100 Let o, f and y be the roots of x* —4x+1=0.
‘What is the value of l+l+l?
a By

A) -4
® -1
© 1
®) 4

101 Let o, B and y be the roots of 4x® —2x* +3x—2=0.

What is the value of l+l+—l—?
a By

3

(A) 2 |
2

® -2
2

© 3
3

D) 3

102 Let &, B and y be the roots of x* —3x+2=0.
What is the value of &® + g2 + 5?7
Ay -3
@) 0
) 6
®) 8
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89

g(x) =(x*+x—6)Q(x)+(7x+13)
=(x+3)(x-2)0(x)+(7x+13)

Remainder when g(x) is divided by (x+3) is g(-3)

g(-3)=7x-3+13=-8

1 Mark: A

90

P(x)=3x"+3x+a

P(2)=3(2)* +3(2)+a=0 (x—2 is a factor of P(x))
244+6+a=0

a=-30

1 Mark: A

91

P(x)=2x*+x*+2x+a

P1)=2x1*+1>+2x1+a=0 (x—1 is a factor of P(x))
2414+42+a=0

a=-5

1 Mark: B

92

P(x)=x" -k’ ~2x+33
P(3)=3"—kx¥ -2x3+33=0 (x-3 is a factor of P(x))
81-27k—-6+33=0
108-27k=0
k=4

1 Mark: C

93

Let the roots be a,i and 3.
o

35 +x —kx+6=0

Substitute f§=-2 into the equation
32 + (-2 —k(-2)+6=0
24+442k+6=0
2k =14
k=17

1 Mark: C

23

f(x)=(x-2)g(x)+6 then f(2)=6
f()=2x2"+kx2+4=6
12+2k=6
2k=-6
o4 | k=-3 1 Mark: B
2x* -3x+4=(x-2)g(x)+6
2x% -3x-2=(x-2)g(x)
(x—-2)2x+1) =(x-2)g(x)
gx)=(2x+1)
95 aﬂy=_ﬁ=_l=_1 1 Mark: B
a 1
9% | a+f+y=——=4 1 Mark: C
97 aﬂ+a7+ﬂ}/=§-=—=3 1 Mark: D
b 8 -1 1
X+ p+y=——=—— apy = ST =7
fry=-—==3 By 373
aﬂ+a}/+ﬂ7=£=0
a
1 1, 1 11 1
@+ B+ + )= @+ 41+ )7+
By a yoobyt e
1 1
98 =aﬁy+ﬂ+o¢+—+y+—+-—+L 1 Mark: D
7 @ B aby
1 8 111
= om 3 p
33 a By
=l_§_+3+w
3 3 affy
=2
3
a+ﬂ+y=————% afly =— —%
» 1 1 1 a+pf+y -1 1 ! Mark: C
._.+—— —_——— ===
af ay Py afy -3 9
24




Year 11"-Mathematics Extension 1

100

1.1 _ef+ay+fy
g afy

1 Mark: D

101

1.1
a By ofy

1 Mark: D

102

1]
|
U

c -
aﬂ+ay+ﬂy=;=—

(a@+p+yY =a’+* +y* +2af+ay+ By)
0= +p*+y* +2x-3
o+ =6

1 Mark: C

25




